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1 Question Description The Concept of Zone of indifferences is associated with

A Decision-Making

B Authority

C Leadership

D Motivation

E None of the above

Correct Answer B

Marks 1



2 Question Description It is an unconditional grant, which can be utilized by the Panchayat for any purpose.

A Matching Grants

B Special grants in aid

C Rural infrastructural aid

D Financial Assistance for cleanliness

E None of the above

Correct Answer A

Marks 1

3 Question Description If a Panchayat is dissolved; elections are to be held within 6 months.

A Section 10

B Section 20

C Section 28

D Section 33

E None of the above

Correct Answer B

Marks 1



4 Question Description Gomantakiya Tarun Sangh published a Marathi periodical Known as _________________

A Uttejan

B Gomantak

C Sunaprant

D Itihasachya Paulkhuna

E None of the above

Correct Answer A

Marks 1

5 Question Description Which Amendment of the constitution of India has included the word ‘Secular’?

A 40  Amendment

B 41  Amendment

C 42  Amendment

D 44  Amendment

E None of the above

Correct Answer C

Marks 1
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6 Question Description Name the editor of the Gomantak Weekly published from Bombay in 1942.

A Dr.Juliao Menezes

B Dr. Armando Menezes

C Ramchandra Nayak

D Balkrishna Waman Savardekar

E None of the above

Correct Answer A

Marks 1

7 Question Description Which of the following recommended complete ban of strikes by Civil servants?

A First Pay Commission

B Third Pay Commission

C Gorwala Report

D Administrative Reform Commission

E None of the above

Correct Answer D

Marks 1



8 Question Description Which of the following Article is called as “the very soul of the Constitution and very heart of it” by Dr. B.R Ambedkar?

A Article 11

B Article 1

C Article 2

D Article 32

E None of the above

Correct Answer D

Marks 1

9 Question Description The idea of constituent assembly to frame the constitution of India was first put forwarded by

A M. N. Roy

B Dr. B.R. Ambedkar

C Sir B. N. Rau

D Pandit Jawaharlal Nehru

E None of the above

Correct Answer A

Marks 1



10 Question Description The Headquarter of Goa Vimochan Samiti was located at _________________.

A Mumbai

B Pune

C Londa

D Margao

E None of the above

Correct Answer B

Marks 1

11 Question Description The Lokpal and Lokayukta Act, 2013 came into force from

A December 1

B January 1

C January 16

D December 18

E None of the above

Correct Answer C

Marks 1



12 Question Description Under which section of RTI Act, 2005 the PIO has to transfer the application concerning another authority?

A Section 4 (3)

B Section 5 (1)

C Section 6 (1)

D Section 6 (3)

E None of the above

Correct Answer A

Marks 1

13 Question Description Constitutional safeguards to civil servants are ensured by

A Article 310

B Article 315

C Article 312

D Article 311

E None of the above

Correct Answer D

Marks 1



14 Question Description Which of the following provisions of Goa Panchayat Raj Act 1994 contains procedure for motion of no confidence against
Sarpanch and Deputy Sarpanch?

A Section 36

B Section 42

C Section 51

D Section 56

E None of the above

Correct Answer C

Marks 1

15 Question Description Central Vigilance Commission was setup on the recommendation of

A Kripalani Committee

B Administrative Reforms Commissions of India

C Gorwala Report

D Santhanam Committee

E None of the above

Correct Answer D

Marks 1



16 Question Description In India a special ministry for women and social welfare formed at the centre in the year

A 1984

B 1985

C 1986

D 1987

E None of the above

Correct Answer C

Marks 1

17 Question Description An organization called Goa Seva Sangh in 1943 was founded by ________________________

A P.P Shirodkar

B Shyamrao Madkaikar

C Diwakar Kakodkar

D Purshottam Kakodkar

E None of the above

Correct Answer D

Marks 1



18 Question Description “Bhutkhambacha lokaladha” a work on peoples protest for environment against

A Nylon 6,6

B Meta Strips

C Konkan Railway

D CRZ

E None of the above

Correct Answer A

Marks 1

19 Question Description Seismic waves can cause disaster named as

A Nino

B Typhoon

C Tsunami

D Hurricane

E None of the above

Correct Answer C

Marks 1



20 Question Description As per the Goa Panchayat Raj Act 1994, B category Village Panchayat comprises of

A 5 elected members

B 8 elected members

C 9 elected members

D 11 elected members

E None of the above

Correct Answer C

Marks 1

21 Question Description It is a command issued by the court to a public official asking him to perform his official duties which he has failed to
perform.

A Injunction

B Mandamus

C Prohibition

D Certiorari

E None of the above

Correct Answer B

Marks 1



22 Question Description Which one of the following developer was not a part of approved SEZs in Goa?

A Meditab Pvt. Ltd

B K. Raheja Corporation Pvt. Ltd

C Finlease Pvt. Ltd

D Steward Co. pvt. Ltd

E None of the above

Correct Answer D

Marks 1

23 Question Description Which sections of the Special Economic Zone Act 2005 deals with guidelines for notifying Special Economic Zone

A Section 7 of SEZ Act 2005

B Section 4 of SEZ Act 2005

C Section 5 of SEZ Act 2005

D Section 9 of SEZ Act 2005

E None of the above

Correct Answer C

Marks 1



24 Question Description Which Goan freedom fighter organised the Rashtriya Seva Dal(Kolhapur)?

A Nilkanth Karapurkar

B Vishwanath Lawande

C Jaytantrao Tilak

D Vinayak Mayekar

E None of the above

Correct Answer B

Marks 1

25 Question Description In which schedule of the Constitution are the land reforms laws included?

A Seventh

B Eighth

C Ninth

D Tenth

E None of the above

Correct Answer C

Marks 1



26 Question Description The Indian system of Rule of law is based on the principle of

A importance to both legislature and judiciary

B supremacy of judiciary

C supremacy of legislature

D supremacy of the constitution

E None of the above

Correct Answer A

Marks 1

27 Question Description The oldest sanctuary in the state of Goa and was declared as a game sanctuary in 1967.

A Cotigao wildlife Sanctuary

B Netravali wildlife Sanctuary

C Bondla wildlife sanctuary

D Bhagwan Mahavir wildlife sanctuary

E None of the above

Correct Answer D

Marks 1



28 Question Description Which section of the Goa Panchayat Act 1994mentions about the grounds for disqualification of membership?

A Section 8

B Section 10

C Section 13

D Section 18

E None of the above

Correct Answer B

Marks 1

29 Question Description Which is the state to setup the institution of Lokayukta in 1971?

A Maharashtra

B Karnataka

C Gujrat

D Bihar

E None of the above

Correct Answer A

Marks 1



30 Question Description Sarpanch of the Village Panchayats shall conveyed annually four ordinary meetings of Gram Sabha in the month of

A January, March, July and September

B February, May, October and December

C May, July, September and November

D January, April, July and October

E None of the above

Correct Answer D

Marks 1



31 Comprehension
Read the following Passage and answer the questions below:
Deviant behaviour is expected in every society and culture. One of the differences between the twin approaches to it, is how the
Takers and the Leavers deal with this problem. Takers deal with deviant behaviour by legislating laws. And deviant behaviour is
present among the Leavers too. They deal with it by not by legislating laws, but by working out a pattern which deals with
deviance. The legislation of laws tries to punish the wrong doer and thus the fear of punishment deters one from being deviant. But
the Leavers have worked out a pattern where the deviant person is not punished but deviance is limited as much as possible.

Question Description The passage uses the verb “to deal with” to convey the following sense:

A to take necessary action

B to be about some subject

C to buy goods and services from some source

D to accept and control a difficult emotional situation

E None of the above

Correct Answer A

Marks 1



32 Comprehension
Read the following Passage and answer the questions below:
Deviant behaviour is expected in every society and culture. One of the differences between the twin approaches to it, is how the
Takers and the Leavers deal with this problem. Takers deal with deviant behaviour by legislating laws. And deviant behaviour is
present among the Leavers too. They deal with it by not by legislating laws, but by working out a pattern which deals with
deviance. The legislation of laws tries to punish the wrong doer and thus the fear of punishment deters one from being deviant. But
the Leavers have worked out a pattern where the deviant person is not punished but deviance is limited as much as possible.

Question Description Identify the word used in the passage to indicate divergence from usual or accepted standard

A deviant

B problem

C deviance

D behaviour

E None of the above

Correct Answer C

Marks 1



33 Comprehension
Read the following Passage and answer the questions below:
Deviant behaviour is expected in every society and culture. One of the differences between the twin approaches to it, is how the
Takers and the Leavers deal with this problem. Takers deal with deviant behaviour by legislating laws. And deviant behaviour is
present among the Leavers too. They deal with it by not by legislating laws, but by working out a pattern which deals with
deviance. The legislation of laws tries to punish the wrong doer and thus the fear of punishment deters one from being deviant. But
the Leavers have worked out a pattern where the deviant person is not punished but deviance is limited as much as possible.

Question Description From the options provided below identify the closest synonym of “limited” in the sense used in the passage

A slender

B bounded

C restricted

D ample

E None of the above

Correct Answer C

Marks 1

34



Comprehension
Read the following Passage and answer the questions below:
Deviant behaviour is expected in every society and culture. One of the differences between the twin approaches to it, is how the
Takers and the Leavers deal with this problem. Takers deal with deviant behaviour by legislating laws. And deviant behaviour is
present among the Leavers too. They deal with it by not by legislating laws, but by working out a pattern which deals with
deviance. The legislation of laws tries to punish the wrong doer and thus the fear of punishment deters one from being deviant. But
the Leavers have worked out a pattern where the deviant person is not punished but deviance is limited as much as possible.

Question Description Read the following statements and state whether they are true or false in the larger context of the passage
(i) Takers prefer enact laws to deter the occurrence of deviant behaviour.
(ii) Leavers tend to create a model of restrictive behaviour in society.
(iii) Fear of punishment can discourage one from deviance.
(iv) Deviant behaviour istackled by the Takers by punishing the wrong doer.

A (i), (ii), (ii) are true; (iv) is false

B (i) and (ii), are true;(iii) and (iv) are false

C (ii) and (iv) are false; (i) and (iii) are true.

D (i), (ii), (iii) and (iv) true

E None of the above

Correct Answer D

Marks 1



35 Comprehension
Read the following Passage and answer the questions below:
Deviant behaviour is expected in every society and culture. One of the differences between the twin approaches to it, is how the
Takers and the Leavers deal with this problem. Takers deal with deviant behaviour by legislating laws. And deviant behaviour is
present among the Leavers too. They deal with it by not by legislating laws, but by working out a pattern which deals with
deviance. The legislation of laws tries to punish the wrong doer and thus the fear of punishment deters one from being deviant. But
the Leavers have worked out a pattern where the deviant person is not punished but deviance is limited as much as possible.

Question Description With the help of options provided, complete the following statement: According to the passage, deterrence causes fear ----

A of law among the citizens

B in Takers but not Leavers

C of punishment

D among wrong doers

E None of the above

Correct Answer C

Marks 1



36 Comprehension
Read the following Passage and answer the questions below:

Henry VII concentrated on reducing friction at home and abroad, and on establishing a strong financially secure monarchy. He was
succeeded in 1509 by his son Henry VIII who married a Spanish Princess Catharine of Aragon. This marriage did not produce a son
and so Henry VIII divorced her. This divorce was condemned by the Catholic Church and, gradually, a split developed between the
Pope and Henry. Henry died in 1547 and at that time England was still largely, in practice, a catholic country, though the supreme
authority of the Pope had been challenged, and many Protestant reformers were eager to spread Protestantism in England.

Question Description Read the following statements and organise them in their logical sequence with the help of options provided:
(i) Consequently, a wedge was driven between the Pope and the King.
(ii) Authority of the Catholic Church was challenged.
(iii) Catholic Church condemned the divorce of Henry VIII.
(iv)Nonetheless, England remained largely a catholic country in practice

A (ii)-(iii)-(i)-(iv)

B (iii)-(ii)-(i)-(iv)

C (ii)-(i)-(iv)-(iii)

D (iii)-(iv)-(i)-(ii)

E None of the above

Correct Answer B

Marks 1



37 Comprehension
Read the following Passage and answer the questions below:

Henry VII concentrated on reducing friction at home and abroad, and on establishing a strong financially secure monarchy. He was
succeeded in 1509 by his son Henry VIII who married a Spanish Princess Catharine of Aragon. This marriage did not produce a son
and so Henry VIII divorced her. This divorce was condemned by the Catholic Church and, gradually, a split developed between the
Pope and Henry. Henry died in 1547 and at that time England was still largely, in practice, a catholic country, though the supreme
authority of the Pope had been challenged, and many Protestant reformers were eager to spread Protestantism in England.

Question Description From the options provided, identify the one that is closest to the word “friction” in the sense it is used in the passage

A insecurity

B civil war

C skirmishes

D conflict

E None of the above

Correct Answer D

Marks 1



38 Comprehension
Read the following Passage and answer the questions below:

Henry VII concentrated on reducing friction at home and abroad, and on establishing a strong financially secure monarchy. He was
succeeded in 1509 by his son Henry VIII who married a Spanish Princess Catharine of Aragon. This marriage did not produce a son
and so Henry VIII divorced her. This divorce was condemned by the Catholic Church and, gradually, a split developed between the
Pope and Henry. Henry died in 1547 and at that time England was still largely, in practice, a catholic country, though the supreme
authority of the Pope had been challenged, and many Protestant reformers were eager to spread Protestantism in England.

Question Description Given the sense of the passage, “many reformers were eager to spread Protestantism in England”, since -----

A at that time England was still largely, in practice, a catholic country

B the spiritual authority of the Pope had been challenged

C Henry died in 1547

D a split developed between Pope and Henry

E None of the above

Correct Answer A

Marks 1



39 Comprehension
Read the following Passage and answer the questions below:

Henry VII concentrated on reducing friction at home and abroad, and on establishing a strong financially secure monarchy. He was
succeeded in 1509 by his son Henry VIII who married a Spanish Princess Catharine of Aragon. This marriage did not produce a son
and so Henry VIII divorced her. This divorce was condemned by the Catholic Church and, gradually, a split developed between the
Pope and Henry. Henry died in 1547 and at that time England was still largely, in practice, a catholic country, though the supreme
authority of the Pope had been challenged, and many Protestant reformers were eager to spread Protestantism in England.

Question Description The reign of Henry VII is noteworthy mainly because it----

A established the Tudor dynasty firm on the English throne

B helped in declining internal conflict in England

C ended a harsh, almost a century-long civil war

D began with his marriage to Elizabeth of York

E None of the above

Correct Answer C

Marks 1

40



Comprehension
Read the following Passage and answer the questions below:

Henry VII concentrated on reducing friction at home and abroad, and on establishing a strong financially secure monarchy. He was
succeeded in 1509 by his son Henry VIII who married a Spanish Princess Catharine of Aragon. This marriage did not produce a son
and so Henry VIII divorced her. This divorce was condemned by the Catholic Church and, gradually, a split developed between the
Pope and Henry. Henry died in 1547 and at that time England was still largely, in practice, a catholic country, though the supreme
authority of the Pope had been challenged, and many Protestant reformers were eager to spread Protestantism in England.

Question Description From the options provided below, select the closest substitute in sense to the word “eager” as used in the passage

A avid

B ardent

C keen

D willing

E None of the above

Correct Answer C

Marks 1



41 Question Description Who has become the fourth Indian mathematician to win Ramanujan Prize 2021?

A Neena Gupta

B Prerna Sengupta

C Shaily Singh

D Seema Sharma

E None of the above

Correct Answer A

Marks 1

42 Question Description PM Narendra Modi laid the foundation stone of the Ganga Expressway in which district?

A Shahjahanpur, Uttar Pradesh

B Sheikhpura, Uttar Pradesh

C Dhanbad, Jharkhand

D Birbhumi, Uttar Pradesh

E None of the above

Correct Answer A

Marks 1



43 Question Description Vijay Diwas is being celebrated on which date?

A December 17

B December 16

C December 14

D December 15

E None of the above

Correct Answer B

Marks 1

44 Question Description Which company has announced the Digital Payments Utsav for 500 villages in India?

A Google

B TCS

C WhatsApp

D Microsoft

E None of the above

Correct Answer C

Marks 1



45 Question Description Good Governance Day is being celebrated on which date?

A December 21

B December 24

C December 25

D December 26

E None of the above

Correct Answer C

Marks 1

46 Question Description Which nation has honoured Prime Minister Narendra Modi its highest civilian award - Ngadag Pel giKhorlo?

A Bhutan

B Indonesia

C Malaysia

D Sri Lanka

E None of the above

Correct Answer A

Marks 1



47 Question Description Which country has become the first country in the world to go paperless?

A Iraq

B America

C Iran

D United Arab Emirates

E None of the above

Correct Answer D

Marks 1

48 Question Description The state having a largest area of forest cover in India is

A Arunachal Pradesh

B Haryana

C Madhya Pradesh

D Assam

E None of the above

Correct Answer C

Marks 1



49 Question Description Uttarakhand has appointed which cricketer as state brand ambassador?

A Yuzvendra Chahal

B Rishabh Pant

C Mayank Agarwal

D Ajinkya Rahane

E None of the above

Correct Answer B

Marks 1

50 Question Description What is the theme of International Anti-Corruption Day 2021?

A Your right, your role: stop corruption

B Your right, your role: Prevent corruption

C Your right, your role: aware of corruption

D Your right, your role: say no to corruption

E None of the above

Correct Answer D

Marks 1



51 Question Description Choose the picture that would go in the empty box so that the two bottom pictures are related in the same way as the top two are related.

A 1

B 2

C 3

D 4

E None of the above

Correct Answer D

Marks 1

52



Question Description Choose the picture that would go in the empty box so that the two bottom pictures are related in the same way as the top two are related.

A 1

B 2

C 3

D 4

E None of the above

Correct Answer B

Marks 1



53 Question Description A person starts from point A and travels 3 km eastwards to B and then turns left and travels thrice that distance to reach C.
He again turns left and travels five times the distance he covered between A and B and reaches his destination D. The shortest
distance between the starting point and the destination is

A 12 km

B 15 km

C 16 km

D 18 km

E None of the above

Correct Answer B

Marks 1



54 Question Description Ankit is the son of Zubin. Manju is the daughter of Anil. Sheela is the mother of Manju. Mohan is the brother of
Manju. How is Mohan related to Sheela?

A Brother

B Father

C Son

D Cannot be determined

E None of the above

Correct Answer C

Marks 1



55 Question Description Find the missing number.

A 10

B 5

C 12

D 7

E None of the above

Correct Answer A

Marks 1

56



Question Description Statement:

 Most of the students who study in premier engineering colleges in India migrate to developed nations for better prospects in
their professional pursuits.

Courses of Action:

I.  All the students joining these colleges should be asked to sign a bond at the time of admission that they will remain in India at least for
twenty years after they complete education.

II. All those students should be asked to pay the entire cost of their education which the government subsidizes who desire to settle in the
developed nations.

III. All the students joining these colleges should be asked to sign a bond at the time of admission that they will remain in India at least for five
years after they complete education or they have to provide 50% part of salary if they go abroad ,

A only I follows

B only II follows

C only III follows

D I and II follows

E None of the above

Correct Answer B

Marks 1



57 Question Description Here are some words translated from an artificial language.
malgauper means peach cobbler
malgaport means peach juice
moggagrop means apple jelly
Which word could mean "apple juice"?

A moggaport

B malgaauper

C gropport

D moggagrop

E None of the above

Correct Answer A

Marks 1



58 Question Description Sonu's mother is the only daughter of Riya's father. How is Riya's husband related to Sonu?

A Uncle

B Father

C Grandfather

D Brother

E None of the above

Correct Answer B

Marks 1

59 Question Description How many times in a day, are the hands of a clock in straight line but opposite in direction?

A 20

B 22

C 24

D 48

E None of the above

Correct Answer B

Marks 1



60 Question Description Today's workforce has a new set of social values. Ten years ago, a manager who was offered a promotion in a distant city would not have questioned the
move. Today, a manager in that same situation might choose family happiness instead of career advancement.
This paragraph best supports the statement that

A most managers are not loyal to the corporations for which they work.

B businesses today do not understand their employees needs.

C employees social values have changed over the past ten years.

D career advancement is not important to today's business managers.

E None of the above

Correct Answer C

Marks 1

61 Question Description Look at this series: 83, 73, 93, 63, __, 93, 43, ... What number should fill the blank?

A 33

B 53

C 73

D 93

E None of the above

Correct Answer B

Marks 1



62 Question Description Read each definition and all four choices carefully, and find the answer that provides the best example of the given definition.
It is appropriate to compensate someone if you have damaged his or her property in some way. This is called Restitution. Which situation below is the best
example of Restitution?

A Jake borrows Leslie's camera and the lens shatters when it falls on the ground because he fails to zipper the case. When Jake returns the camera, he tells Leslie that he will
pay for the repair.

B Rebecca borrows her neighbor's car, and when she returns it, the gas tank is practically empty. She apologizes profusely and tells her neighbor she will be more considerate
the next time.

C Aaron asks Tom to check in on his apartment while he is out of town. When Tom arrives, he discovers that a pipe has burst and there is a considerable amount of water
damage. He calls a plumber to repair the pipe.

D Lisa suspects that the pothole in her company's parking lot caused her flat tire. She tells her boss that she thinks the company should pay for the repair.

E None of the above

Correct Answer A

Marks 1

63 Question Description Present ages of Sameer and Anand are in the ratio of 5 : 4 respectively. Three years hence, the ratio of their ages will become 11 : 9 respectively. What is
Anand's present age in years?

A 24

B 27

C 40

D Cannot be determined

E None of the above

Correct Answer A

Marks 1



64 Question Description Read each definition and all four choices carefully, and find the answer that provides the best example of the given definition.

People speculate when they consider a situation and assume something to be true based on inconclusive evidence. Which situation below is the best example of
Speculation ?

A Francine decides that it would be appropriate to wear jeans to her new office on Friday after reading about "Casual Fridays" in her employee handbook.

B Mary spends thirty minutes sitting in traffic and wishes that she took the train instead of driving.

C After consulting several guidebooks and her travel agent, Jennifer feels confident that the hotel she has chosen is first-rate.

D When Emily opens the door in tears, Theo guesses that she's had a death in her family.

E None of the above

Correct Answer D

Marks 1



65 Question Description Find the missing letter.

A K

B O

C P

D S

E None of the above

Correct Answer D

Marks 1



66 Question Description Here are some words translated from an artificial language.
peslligen means basketball court
ligenstrisi means courtroom
oltaganti means placement test
Which word could mean "guest room"?

A peslstrisi

B vosefstrisi

C gantipesl

D oltastrisi

E None of the above

Correct Answer B

Marks 1

67 Question Description Which word does NOT belong with the others?

A core

B seeds

C pulp

D slice

E None of the above

Correct Answer D

Marks 1



68 Question Description Choose the best alternative.

68 : 130 : : ? : 350

A 232

B 222

C 242

D 252

E None of the above

Correct Answer B

Marks 1



69 Question Description Which word does NOT belong with the others?

A seat

B rung

C cushion

D leg

E None of the above

Correct Answer C

Marks 1



70 Question Description Choose the best alternative.

42 : 56 : : 110 : ?

A 132

B 134

C 136

D 138

E None of the above

Correct Answer A

Marks 1



71 Question Description A, B, C, D, E, F, G, H and I are nine houses. C is 2km East of B. A is 1km North of B and H is 2km South of A. G is 1km
West of H while D is 3km East of G. F is 2km North of G, I is situated just in the middle of B and C, while E is just in the
middle of H and D. Find the distance between E and G.

A 2 km

B 1.5 km

C 3 km

D 4 km

E None of the above

Correct Answer A

Marks 1



72 Question Description Here are some words translated from an artificial language.
tamceno means sky blue
cenorax means blue cheese
aplmitl means star bright
Which word could mean "bright sky"?

A cenotam

B mitltam

C raxmitl

D aplceno

E None of the above

Correct Answer B

Marks 1



73 Question Description In the question below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in the
statements are sufficient to answer the question. Read both the statements and give answer

Question :How many children are there in the row of children facing North ?

Statements:

I. Vishakha who is fifth from the left end is eighth to the left of Ashish who is twelfth from the right end.
II. Rohit is fifth to the left of Nisha who is seventh from the right end and eighteenth from the left end.

A If the data in statement I alone are sufficient to answer the question, while the data in statement II alone are not sufficient to answer the question

B If the data in statement II alone are sufficient to answer the question, while the data in statement I alone are not sufficient to answer the question

C If the data either in statement I alone or in statement II alone are sufficient to answer the question

D If the data given in both statements I and II together are not sufficient to answer the question

E None of the above

Correct Answer C

Marks 1

74



Question Description Statement:

There has been a significant drop in the water level of all the lakes supplying water to the city.

Courses of Action: ​​ 

I. The government should appeal to all the residents through mass media to minimize the ​​ usage of ​​ water.

II.The water supply authority should impose a partial cut in supply to take the situation.

III.Govt should arrange water to city from the another city nearby

A only I follows

B only II follows

C only III follows

D I and II follows

E None of the above

Correct Answer D

Marks 1



75 Question Description In the question below consists of a question and two statements numbered I and II given below it. You have to decide whether the data provided in the
statements are sufficient to answer the question. Read both the statements and give answer

Question: How many children are there between P and Q in a row of children ?

Statements:

I. P is fifteenth from the left in the row.
II. Q is exactly in the middle and there are ten children towards his right.

A If the data in statement II alone are sufficient to answer the question, while the data in statement I alone are not sufficient to answer the question

B If the data either in statement I alone or in statement II alone are sufficient to answer the question

C If the data given in both statements I and II together are not sufficient to answer the question

D If the data in both statements I and II together are necessary to answer the question.

E None of the above

Correct Answer D

Marks 1


